



Revelry Event Designers
 3604 Medford St.
 Los Angeles, CA 90063
 (323) 263-1657

IN-0009002

RMC

02/11/2026 02:00 PM | Drop off
 02/12/2026 10:30 AM | Installation
 02/13/2026 08:00 AM | Strike

PO:
Shipping Address:
 Montage Laguna Court yard

Invoice Date: January 23, 2026
Due Date: Upon Receipt
Salesperson: Romina Manolio

Description	Qty	Price	Total
Additions			
 Blankets - Cotton - Stitch Knit W/ Pompom Trim - Blue Moss 48"W x 60"H	6	\$22.00	T \$132.00
Baskets for Pashminas	2	\$0.00	T \$0.00
Total Additions			\$132.00
Drape			
Brown and Navy Tassels to pick on site	10	\$0.00	T \$0.00
Drape - Instock - Navy Stretch Velvet 250'x14'H to create over lapping Swags and Billows with Valance Pipe and base	1	\$5,500.00	T \$5,500.00
Drape Instock - Navy Stretch Velvet For stage and Behind Stage - Front pullback Front 20'x 20'H Back of Performer 20'x 15'H to bee ont the outside not covering the Tree Pipe and Base	1	\$770.00	T \$770.00
Total Drape			\$6,270.00
Bars			
 Bars - Tiered Slats - Multicolor * For engraving station , JUST THE MIDDLE (NO CORNERS) , Painted : Painted : Chocolate Therapy 12'W - Custom Color upon request	1	\$880.00	T \$880.00
 Bars - Tiered Slats - Multicolor Painted : Chocolate Therapy 12'W - Custom Color upon request	1	\$1,320.00	T \$1,320.00
 Barback - Nice - W/ Light Up Columns Painted : Chocolate Therapy 18"W x 8'20"L x 9'H - Color Upon Request	1	\$660.00	T \$660.00
Total Bars			\$2,860.00
Sofas and Seating Recomendation			
Mix and Match Pillows Navy Blue , Brown , and Sage	20	\$27.50	T \$550.00

Description	Qty	Price	Total
 Sofas - Channeled Velvet - Navy Blue 81 1/2" L x 36" W x 27 1/2" H	4	\$550.00	T \$2,200.00
 Club & Lounge Chairs - Channeled Velvet Swivel - Navy Blue 31" L x 33" W x 24" H	6	\$275.00	T \$1,650.00
 Ottomans - Hollywood - Black W/ Brass Base With Blue Covers 16"Diam x 18"H	4	\$38.45	T \$153.78
Total Sofas and Seating Recomendation			\$4,553.78
Coffee Tables options			
 Coffee Tables - Bucharest - Brass & Mirror 44.5"W x 24.75"D x 20.5"H	4	\$316.25	T \$1,265.00
Accent Tables - Black Marble & Brass 30W x 30D x 27.5H	4	\$198.00	T \$792.00
Total Coffee Tables options			\$2,057.00
Communal Tables - Stand up and Seat down			
 Small Dining Tables - Antique Brass Round 40"Diam x 30"H	2	\$347.88	T \$695.75
 Dining Chairs - Washington - Gold Frame Brown Velvet covers 8 for Seat down tables 2 for sketch artist 19"W x 23"L x 37"H - Back & Seat Cushion Cover Color Upon Request	10	\$24.04	T \$240.35
 Communal Tables - Munich - Gold For Outside 60"W x 22)L x 42"H	2	\$177.10	T \$354.20
 Barstools - Buenos Aires - Gold With Brown Velvet Covers 8 for Communal tables and 4 for Bars 21"W x 17)L x 4'H - Seat Height 30"	12	\$31.63	T \$379.50
Total Communal Tables - Stand up and Seat down			\$1,669.80
Props			
 Oversize Props - Palm Tree - 13'h To Frame stage 13'H - Plate size 4'x4'	2	\$550.00	T \$1,100.00
 Dance Platform - Square Wood To Be on Base of Stairs , Painted : Chocolate Therapy 4'W x 4'L x 16"H - Custom Color Upon Request	2	\$442.75	T \$885.50

Description	Qty	Price	Total
	Dance Platform - Square Acrylic With Light inside For Performance on Top of Stairs 4'W x 4'L x16"H	1	\$379.50 T \$379.50
	Table Lamps - Recycled Glass & Metal 4-1/2" Diam x 6 1/2"H - LED Operated	12	\$33.00 T \$396.00
	Table Lamps - Ceramic Cheetah To Have Table Lamp in Navy Stretch Blue For Bars 9"l x 9"w x 17"h 60 watts - Custom Shade Cover upon request	2	\$82.50 T \$165.00
Total Props			\$2,926.00
Flowers And Candles			
	Sand Candles	95	\$27.50 T \$2,612.50
	Cocktail Table Floral	5	\$82.50 T \$412.50
	Coffee tables Floral	4	\$275.00 T \$1,100.00
	Side Table FLoral	6	\$49.50 T \$297.00
	Communal Table Floral	2	\$550.00 T \$1,100.00
	Bar Piece	2	\$825.00 T \$1,650.00
Total Flowers And Candles			\$7,172.00
Services			
	Delivery to Grand Ballroom Off load and store on Grams Ballroom	4	\$550.00 \$2,200.00
	Transportation Off load and store on Grams Ballroom	2	\$600.00 T \$1,200.00
	Team to Drive install and Drive back	6	\$600.00 T \$3,600.00
	Strike team	6	\$600.00 \$3,600.00
	Manager on Site	1	\$2,500.00 \$2,500.00
	Floral delivery and Other	1	\$2,184.00 \$2,184.00

Please make checks payable to Revelry, Inc.

Note: Prior to deliveries and pick-ups all invoices must be pay in full
Please ready the contract and sign it

Notes

Deposit of 50% needs to Be done in order to secure the event and Goods
Final Payment Before Deliver if items

Total Products:	\$27,640.58
Total Labor/Services/Misc:	\$15,284.00
Wear & Tear (4.00%):	\$756.58
Packing (2.00%):	\$378.29
Taxes :	\$2,312.15
Discounts:	(\$8,726.19)
Total:	\$37,645.41
Payments:	(\$36,886.55)

Balance: \$758.86